=5 ¥ =N N\
T 5= W = % fFF F£
wger R 2 =t AFEHTRY = RHAAR HTRUHEEXE (4 HEXy VR AR A (— A
” ) THEXSY — A A
L XSy - LFE - FhI - M bsiis AT B (milEl) S (4D HE R eSS
— i A
= 1. 000
[ERTTECE ¢
= 1. 000
Kebgn -0
= 1. 000
HER -V rark =Ys)7) BER TV 40, 50mEL T, SAE. T, ¢
66mm
m 30. 000
SERER -V (vatR =)t A, 50mEL T, $RIELT A, ¢ 66mm
m 22. 000
Hd~v FH#k
= 1. 000
BV A A KFL AR
= 1. 000
VINEEME RSV A - R
=] 70. 000
Bk &8
[E] 30. 000
Ay
= 1. 000
T
= 1. 000




THERX Sy - TFE - FER - M5 ks HAfrL $eE (FimEn) B (4D FE R ELES
TEH
= 1. 000
e 2
= 1. 000
el L O A1
= 1. 000
FakE (K 077 EiiR)
= 1. 000
%
= 1. 000
SRR
= 1. 000
ik #e AR m
= 1. 000
RE R
= 1. 000
i 15 B
= 1. 000
fite 1.5 B2
= 1. 000
=
= 1. 000
BEE3
= 1. 000
B33 d
= 1. 000




THERX Sy - TFE - FER - M5 ks HAfrL $eE (FimEn) B (4D FE R ELES
— WA S
= 1. 000
AT S TR A
= 1. 000
EHEEGR
= 1. 000
Mg~ A
= 1. 000
Mg~ FA
= 1. 000
EBEEM (2 OMFE MR <)
= 1. 000
& O FAT
= 1. 000
—WE R
= 1. 000
AT TR
£ 1. 000




